
MZSLB15050  Pagina 1

REVISIE: 29-8-2022 



MZSLB15050  Pagina 2

Nr. Omschrijving Artikelnummer Nr. Omschrijving Artikelnummer

1 STROOMKABEL (VDE-1.5x2Cx5M-H07RNF)XAGSLB0001 58 BORSTEL XAGSLB0058

2 KABELTULE XTC0570000 59 INBUSSCHROEF X4 (M5x12xP0.8) XAGDS00228

3 SCHROEF M4x14 XTC0550000 60 VLAKKE RING X6 (Ø6.5xØ16x1) XAGSLB0060

4 BODEMPLAAT RAL5000 XAGSLB0004 61 GELEIDEWIEL ZILVER XAGSLB0061

7 MACHINESCHROEF-B XAGBS30002 62 GELEIDEWIEL ZWART X5 XAGSLB0062

9 KABELKLEM XAGSLB0009 63 ROLLENAS X2 XAGSLB0063

10 ZESKANT SCHROEF B-W (M4X30) XAGBS10023 64 ZESKANT MOER (M8) XAGSLB0064

11 MOTOR KAPJE XAGSLB0011 68 VEER (Ø2,3xØ15,4xØ20x17Tx100L) XAGSLB1047

12 KRUISKOP TAPPING SCHROEF-B X2 (M4x6xP0.7)XAGSLB0012 69 MACHINE SCHROEF-B (M4x10) XAGBS20033

14 KOOLSTOFBORSTELHOUDER (7x17) XAGBS20012 70 PLAAT XAGSLB0070

15 ISOLATIEPLAAT (10x38x1) XAGBS20014 71 BINNENKAP XAGSLB0071

16 BORSTELVEER (0.4x4x3T) XAGBS20011 72 INBUSSCHROEF X3 (M5x16xP0.8) XAGSLB0072

17 ZESKANT SCHROEF (M4X10) X2 XAGBS10027 74 TAPPENDE SCHROEF-B (M4x12) XAGSLB1003

18 BORSTELKAP X2 XAGSLB0018 75 TREKKER XAGSLB0075

19 DOPSLEUTEL SCHROEF X4 (M5x30xP0.8) XAGSLB0019 76 VEER (Ø1.2xØ8.2xØ10.6x16Tx58L) XAGSLB0076

20 VEERRING (M5) XAGBS20024 77 INBUSSCHROEF X2 (M5x6xP0.8) XAGSLB0077

21 VLAKKE RING X4 (Ø6xØ10x1) XAGSLB0021 78 VEER (Ø0,6xØ2,7xØ3,9x5Tx8,5L) XAGSLB1043

22 MOTORHUIS XAGSLB0022 79 CONTROLE BAL (Ø4) XAGSLB1042

24 KRUISKOP TAPPING SCHROEF-B X2 (M5X70)XAGSLB0024 83 DIEPTEINSTELLING XAGSLB0083

25 VENTILATOR KAP XAGSLB0025 84 VEER (Ø1xØ5xØ7x15Tx30L) XAGSLB0084

26 KOGELLAGER (6200) XAGBS10040 85 EXTERNE CLIP EXTERNAL CIRCLIP (S12) XAGSLB0085

27 ARMATUUR (220V-94x54x55) XAGSLB0027 86 LIMIET PIN XAGSLB0086

28 KOGELLAGER (6001) XAGSLB0028 87 BESCHERMPLAAT XAGSLB0087

29 VERSNELLINGSPIN XAGSLB0029 88 STOFKAP BASIS XAGSLB0088

30 O-RING (Ø32x1.5) XAGSLB0030 89 NYLOCK NUT (M8xP1.25) XAGSLB0089

31 VERSNELLING BEHUIZING XAGSLB0031 90 BUITENKAP XAGSLB0090

32 INBUSSCHROEF SET A 4 ST. (M5x25xP0.8) XAGSLB0032 91 SCHROEF M4x25 XTC0540000

33 VERSNELLINGSBAK KAP XAGSLB0033 93 VERGRENDEL HANDVAT XAGSLB0093

34 KOGELLAGER (6001) XAGSLB0034 96 ONTGRENDEL HENDEL XAGSLB0096

35 TANDWIEL (M1.5x37T) XAGSLB0035 97 VOORKANT HANDEL 2 XAGSLB0097

36 PARALEL SLEUTEL (5x5x15) XAGSLB0036 98 KRUISKOP TAPPING SCHROEF-B X2 (M4x20xP0.7XAGSLB0098

37 INGANGSSCHACHT (M1.25x21T) XAGSLB0037 101 CHISEL XAGSLB0101

38 NAALDLAGER (HK 1212) XAGSLB0038 103 PAKKING XAGSLB0103

39 NAALDLAGER (TA 1010) XAGSLB0039 104 PAKKING XAGSLB0104

40 STUURRING (1024) XAGSLB0040 105 ASGAT-SCHROEF XAGSLB1031

41 VERSNELLING (M1.25x27T) XAGSLB0041 107 KRUISKOP TAPPING SCHROEF-B X4 (M4x12)XAGSLB0107

42 NYLOCK MOER (M16xP1.5) XAGSLB0042 108 BESCHERMPLAAT XAGSLB0108

43 INTERNE CIRCLIP (R-40) XAGSLB0043 109 INBUSSCHROEF X2 (M4x10xP0.7) XAGSLB0109

44 KOGELLAGER (6203) XAGSLB0044 112 SCHROEF (M4x8) XAGDSSK014

45 OLIE RING (Ø24xØ35x4) XAGSLB0045 113 ELEKTRONISCHE EENHEID 220V XAGSLB0008

46 VERSNELLING PLAAT XAGSLB0046 114 HALL EFFECT SCHAKELAAR XAGSLB1002

47 TRUSS HOOFD MACHINE SCHROEF X4 (M5x20xP0.8)XAGSLB0047 115 BASIS ASS'Y XAGSLB0057

48 SPIE (5x5x12) XAGBS10054 116 VOORKANT HANDVAT RECHTS XAGSLB0116

49 SPIL (109,2MM) XAGSLB0049 117 VERGRENDEL DRAGER XAGSLB0117

50 TUSSENRING (15MM) XAGSLB0050 118 VEER (Ø1.0xØ8xØ10x10Tx38L) XAGSLB0118

51 TUSSENRING (10MM) XAGSLB0051 119 VEER (Ø1.0xØ8xØ10x14Tx52L) XAGSLB0119

52 TUSSENRING (Ø22.45-6MM) XAGSLB1030 120 L-VORM PLAAT XAGSLB0120

53 TUSSENRING (4MM) XAGSLB0053 121 MACHINE SCHROEF PLAT (M4X8XP0,7) XAGSLB0121

54 TUSSENRING X6 (Ø22.2-3.1MM) XAGSLB0054 122 VELD (220V-94x54X55) XAGSLB0023

REVISIE: 29-8-2022 



MZSLB15050  Pagina 3

Nr. Omschrijving Artikelnummer Nr. Omschrijving Artikelnummer

123 KOOLSTOFBORSTEL (7x17x19) (220V) XAGBS20044

124 LED-INDICATIELAMPJE XAGDS00126

125 KRUISKOP SCHROEF-B (M4X20) XAGBS10010

AFTER SERIAL NUMBER: 21117209

96 ONTGRENDEL HENDEL XAGSLB0096N

97 VOORKANT HANDEL 2 XAGSLB0097N

116 VOORKANT HANDVAT RECHTS XAGSLB0116N

BEFORE SERIAL NUMBER: 21117209

80 TORSIEVEER XAGSLB0080

81 VERGRENDELKNOP XAGSLB0081

82 ROLL PIN (Ø4x16) XAGSLB0082

REVISIE: 29-8-2022 


